April 12, 2018

Math 115
Spring 2018

Lecture 4

'ﬁ)az%bz @?

Sowme Reviaw *

.|(3) «() (3)(.4) Jcme — 12 \l_ -12

-3 -(-4) -3 44 1
S-12 =
_32: —Q\ ) (—3)?~:ﬁ E . %




April 12, 2018

S‘\m?\(g- £ Name o pvop:
X 1
t(5%+1) - =
14 - L1 s houtive
-3 (@x) <31 -3 P
_ 'l_z%_ X A('_(Z_.l _.t_‘_& Associntive
_ 1% _\3_3.1_3?: Taverse
1 _ 1 Tdeviy
=X Xz 7Z sl
-x =« 0 Tnverse
- X] 1dentity
Toans\ore.  only

@D Sind e

@ The pro duct

ch‘wwe

X

voot o?’

% \IX-\5

o?'\'ioﬂa\

iuo'\'\‘m'\" oy Sowe v\u\m\oz/
| X
fano) B less Fhan e Numbey

wh] o% o% Some vwvnber.

5 WoYe '\)nay\ '\'xb\a. ‘Y\\)W\\ﬂ,
\/_\"/

= A\ A5




April 12, 2018

Solve
O4x -3 =-39
Hx = -39+3
4Y = -36

So\\le

@ 3(’)(-—2)—‘2 = x—=40
3x -6 —-12= %X-%0

3% @?@—“‘O

3Y -%X= -v0 + 19

A~ 0w
@ 4 (2x «5) —8(x —1>= 23 =
X~ 420 _%K R =2%
2€=2% —>True (= inknite .

>

2xX= - 2’2,\\
==t
3’-1173 o

Nnombver 0
So(()'h'oﬂs




April 12, 2018

Selve
3 Aol L Waah:use LCD
® _"TX N % & b ¢ 3 t6 <\eor Sactions
- 4
L‘G’z ?2:.3 2 Zx s - X~ 5
- _( =-10
Lscb,zz*s 2 X 27"‘“\ ~b

® 5(x -4)-1(2x¥3) =% 1L t_\__?_}

\i-\-mcs e Sum) 0¥ |Some nuwber| and

\5] (reduced by —10) (s equal B
Mo nomber  lesy 30, Find The Nomber.
Lt % be The numbes

4(xx5) (1O EDx —30

Side. No're 4(x+5) +\0 =X-30
A \ess B YA-B 4X +20 +\10=%-30

A less than B » B-A “4x -30

y yom ® > B-A

S\)\)_\.ﬂ* q ; AL L\'x ——X _-:_30__”

The mumber S 3%x = - 60
_ao' \X:—EO




April 12, 2018

Clsg Quiz: Dox Your Yinal Ang
Solwe
O KCIADB  ® Br-kex
5% -%z=33 %3 5 LQD.;G\
9 =3:}’6 )g.%x _£’-=6-x
ey M, 4y €361
o Y tx-6x =3
® 3(x+2) — (x+6)=2%x  _2x:=3
=3
- =2X -3
3 € -% A ‘E
a'x = Z'X )
ox —2x=0
0:0 Jrue
tndinte = oF Sons,

Comf\ex Fractons
I+ s o Craction '\'\r\o\'\' Confans gv‘ad‘(m.

o4 L 42 5 _

2 3 5-3 *g = ?3#
J —\_ ) &

4 15 E_\_j_

Yo Stm:f\(?& ov educe  Cowmplex %vuc*\'ons,
@S.;,\A LCD oF all Ae.womm«'}og_

o \ip\ Ming by T LD
3 Moltiply Quayiung 5%

@) Simpkty, Simphity, Simplity -




April 12, 2018

Semph® 2 v 4 0
54 5 9
=13
10 10
“. 5 Led =20
'}sf’%;‘r: H2-51 3%-5
- 9},0'1%_ 23 2L
g AER
126
fpW l 42z
Sty B -4% i
_5 _5
5~ % 5%
3 =)
by o
s Tz___so‘s-%oﬁ _39-56
' 2 _4F.5 2.3 -2.5  36-ID
23 /\2/6/
:_;D-——
eb




April 12, 2018

Q&‘\'ioo§ A B B =1>_%>

$ind FPre votio oy 24 T RO.

\ i,
Tiad the oo oF 33 T8 15
L 10 5
33__- > 0.6 05 (5
T 6 0 35 3 ¢ \°
\ =
/L'g = )
3
Sfﬂé‘ Yhe voxio OS 3—,__\' % 9.
23 'S
_—-‘:\—-: = = —\5-‘75 -_-_\—5—‘:—_‘5_
5 5 4 471
L

\M\\ex\ ‘\‘\rJO “ot\'ios ove chva\ o each ofhw

we have Proportion /%
RE D

Ny Q—‘ﬁ ; do Cross-Wv \'\"\?\\' cation

AD - BC

To




April 12, 2018

Ver X"( Tha g‘O“Ow\‘V\j ?fo‘bor‘\‘(ow
25 __6 —b >.5(%0) £ 6(\‘5)
S %9 200 £ 90
NotT o Frue ?m?ov‘\‘l‘on.
4 e 3 56-2 =45
> 9 ' 1 )\
q st g
o6 =% =
\rve ProFor‘\‘\‘oﬂ 4o = 4o /
ATH (\3 Pro?or‘\'(on E<‘-uq'\'\‘oﬂ
¥
SO\Q % = 1 CvosS-WNu \'\'\?\n
1.5 3
XA .3
4 e
Meay: Cross-Mu \'\‘P\‘(’)
o(x-4) =23
o2y - =21




April 12, 2018

Sowe  3ax+3 _ 2 b Gross Mo \Hiply
ax-1 5
5 (2x+3) =2 (5x-1)
\0X —?_
lox —10x=-2 -5
O-=-\1 talse — Q)

No Sow.

T+ Yook \Leo 49 hvs 1o bui\d

2 walls. RE The vote, Wrow moni
of fhese Walls  Con he build im
\3 Nours? 4.9 hvs Y3 hours

> walls 7 Walls
8

SO\VQ L.'\_'_g- = T

_ 213
2 Wel\s 1.5x = 3%'
’x: }_.\/ 'x= \2

4.5




April 12, 2018

Moria, USed 2.5 cops oS Svgar T

boke 20 wmotring. At this ode,

\ow many Cups oY Sugar do L need

cake DO ‘W\U:-Q-TV\S? 2.9 psS. - 7y Cups
>0 Mothias 90 Wt

SO\\Ie 2.5 - __2<_~ X = 2-‘5(‘50}
Q—OX - 206(.503 'y - 602-5'

6,25 Cups o+ Svgw.

A 654 Yol pevson has o Shodaw 0¥
22§t lorg.

R ‘ovi\édﬂg hoo o Sh

| \ding? € S fo
W Yall \sguggg\‘\v. ous\ 9 \
P 2% St Shedow

x §¥
15 & Sh,
4‘.

vouJ o> \15 ¥t \oﬂa.

6 . % 2% %= 6(\15)

-

<€ \15
ooyt X= 6.9:'5_)—
32§ Yl 2% 3
U DS

10



April 12, 2018

Due ™ om&o&(

S&2

but also wer K ow a4 (Wit e

Kow o Ao Wod Problems

Do <h. 1l Make sure to use the cover

collected ot
e evd ot
class).

page and the work page.

1"



